Sales Pricelist 7/11/2023 @ EM@&E

The better way to clean

it
item number ! .em group description sales price PU QR code picture
discount group

1
234667 010 MP823
010 EHRLE Coldwater High-
Pressure-Cleaner
stationary
Bolt-On Unloader VRF2-
151 i
461024 5 P 30l/min
151 TST-25 bar M22x1,5M
Cable 8m HO7RN-F
107
25871 0 3G1,5 black EU
107
Cable gland M16x1,5
1
5350 06 grey
106 schwarz
Cable gland M20x1,5
1
5347 06 grey
106 RAL 9005 schwarz
Cable gland PERFECT
1
5346 06 M16x1,5
106 KV PA RAL9005
schwarz
Cable gland PERFECT
1 *
5345 06 M20*1,5
106 KV PA mit Reduzierung
RAL9005 schwarz
Connection-KIT Bolt-On
151
461023 5 Unloader
151 for HP-Pump E1B, E2B,
E3B
Contactor KLIBO 7,5
1 R
23163 08 230V/50-60Hz
108 3s/1Hs

© Ehrle GmbH Page 1/3



Sales Pricelist

item group

item number .
discount group

7/11/2023

description sales price PU

@ EHRLE

The better way to clean

QR code picture

103
35093 103
578716 120
120
348609 407
407
405
7
3759 405
386209 410
410
406
71001
37100 406
591724 410
410
108
21451
510 108
587105 014
014
© Ehrle GmbH

Controlboard Etronic 3
230V

Electric box BG90/100
KD3x3

PP grey consisting of an
upper and lower part

Electric-Motor AC230V
50 Hz 2,6kW MEC100

1500rpm B3/B14
hollowshaft @24mm

Fitting-Reducing nipple
brass hex SW28

3/4"x1/2" M.M. 38,3mm

Screw hexagon head,
serrated with flange

like DIN 6921 M6x16
stainless steel

HP-Pump AR JHK12.15
SSRHT

12l/min 150bar 1450rpm

JD-79 Chipboard screw,
countersunk head Z

M4,5x25 zinc plated

Overload-Protection 1
pole 17A

Pressure-gauge 0-
250bar gly. @40 1/8"M

connection back centric,
INOX-case

Page 2/3




Sales Pricelist 7/11/2023

@) EHBRLE

The better way to clean

item number

item group
discount group

description

sales price

PU

QR code

picture

Rotating knob switch on-

120
299002 off
120 ABS Terloran GP35 red
59871 410 Screw countersunk head *‘iw
410 like KN 6039 STS plus L 4
M4x10 stainless steel
410 ) ’:,.»"'_f
591722 Screw SPAX pan head z P~
410 M4,5x15 zinc plated =
Switch On/Off 2 poles SSeg
108 N X- )
204615 V2N A2-F25H-X-XG9 Q‘_c il
108 4
Switchbox seal
120
578717 BG90/100 KD3x3
120 TPE-V black
109 " =
361344 Valve plug R1/8"F
109 for HP-pump E1B, E2B,
E3B
© Ehrle GmbH Page 3/3



